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Who is the Rin — Nin INR

OVERVIEW

The mawn states that if one damaged 7%°¥» 172 1RW 0°023, he is 2>11. The inference is
that even though they are w7pn (to some extent) but since 712°¥» 172 X you are 2%7.
The X n3 then asks, ‘who is the X1’ that maintains that you are 211 for damaging
such mw7p where there is no 717°¥n 211 (if you derive benefit from them). There
are Mw1ps for which there is no 79°¥n 211 according to all opinions.' Why does the
X713 ask Xin Xn, which indicates there is only a minority opinion? N19010 resolves
this issue.

- *yom 199 NYIWN 172 YT MYTPNN Joynb Na XYT 1YY XVIWD 4119
The questioner (XN j¥71) meant as follows: it was certain to the questioner that the
Xin of the 71wn when he stated 79°vn 372 XY 2°021 did not intend to exclude those
nw7pst for which there is no obligation of a i%°¥» 127p; for instance by ¥pap.

The reason we cannot say that the 71w» meant this is -
N7 KDY DYV RY NDIYN NI2) Y03 DN 10T

For since they are the property of @7p:s, whether or not there is 72°v» does not

add nor diminish the liability for this act of prn. If it is w7pa property, there is no 2rn
PaYown, regardless that there is no 772°vn arn.’

SUMMARY
Articles which belong to w7pn are certainly excluded from receiving payment for
damages suffered (regardless if there is a 77°v7 21°17 or not).

THINKING IT OVER
If the 7awn did not mean to exclude ypap (which is a 772°¥n 17 72 PRW WIPn), why
indeed did the 7awn state 72°yn 17 172 1XYW 0°0217!

"It would seem that if they were damaged, the p>m would be 21 (according to our FIwn).

? The term 7193 indicates that 201 (or *"wA, etc.) intends to resolve a difficulty in the apparent understanding of
the X1). See ‘Overview’ for an explanation of this difficulty.

? The term ‘exclude’ ("ovn?") is used here to mean to exclude them from the 25 of being 72> 072 W*w 0031 P*In;
and have the 1 be 2711 since this is 72°¥n 072 PRW 2°001.

* If someone derived benefit from vp7p that belongs to wpr, the usual rules of 72¥7 do not apply. NMooN claims that
we cannot say that this is what the 71wn was referring to when it stated 77°yn 172 7KW 0°023, that one is 21 if he
damaged wpn YW vpop since there is no 77°vn 17 if someone benefitted from wpn Sw ypap.

> See M "7 2,0 moon. If he is ypp woIpn, ete. it leaves the 2°2¥2 mwA completely and it now belongs to w7pi. [See
however the 7"w171 on 2,1 concerning the W 1"7 >"w".] However the 72wn could be referring to 0°%p o°w1p which do
not belong to w7pn (as of yet [according to 3"i17]), it is (just) the responsibility of the w>7pn to bring it for a 127p.
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